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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 64
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 64
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 65
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 65

1.64 J ,
o Ylf2ge( ©3
| | s};}ﬁ‘} CLO , 04/ /
2\ /A Ac .
| logig(A(PY) =1.4928J0g.o(Q) - 28992 | |
R?=0.9402 5
1.44 -
N::
e
<
v?_ 1.34 ¢
o
o
1.24 |
114 +—
|
1.04 I—O | | | | | | | |
2.65 2.70 2.75 2.80 2.85 2.90 2.95 3.00 3.05
10940(Q)
| O log(D(P2)) =Linear (log(D(P2))) |
Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 65
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 66
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 66

1.40E-02 o) | I
1.35E-02 ——— | -
A(P?)/Q = -3E-06Q + 0.0158
1.30E-02 - - ” :
R? = 0.9354

1.25E-02 -

A(P?)IQ, psia®/(cc/min)

1.20E-02 |
1.15E-02
1.10E-02 +———+ o)
1.05E-02 . ‘. i ; .' ; ; : . .
650 750 850 950 1050 1150 1250 1350 1450 1550 1650 1750
Q, cc/min
[ 0 D(P2)/Q —Linear (D(P2)/Q) ]
Relationship between steady-state differential pressures squared and flowrate:
If relationship_is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 67
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 67
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_ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 67
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
‘X Transect: Drillhole 68
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 68
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Relationship between steady-state differential pressures squared and flowrate:
If relationship.is_linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 69
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 69
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‘ _ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 69
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 70
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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A(PY)IQ, psia®/(cc/min)

Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhol{f(ﬁ
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Relationship between steady-state differential pressures squared and flowrate:
If relationship. is linear, with the ordinate intercept nearly zero,

there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 73
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
' X Transect : Drillhole 73
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 74
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Log-Log plot of differential p[eSSures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole@
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Relationship between steady-state differential pressures squared and flowrate:
If relationship js linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
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A(P?)IQ, psia®/(cc/min)

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.

X Transect : Drillhole 78
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 79
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Log-Log plot of differential préssures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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1.30
sl 10g4o(A(P?)) = 0.7223l0g44(Q) - 1.0334|
R = 0.9989
1.20 {—
S
sé 1.15
o
L/
1.10
1.05 4
1.00 — . , ; | | [
2.80 2.85 2.90 295 3.00 " 3.05 3.10 3.15 3.20
109410(Q)

| O log(D(P2)) =—Linear (log(D(P2))) |

LEL



Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 79
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Relationship between s;teady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 80
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 80
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
"~ X Transect : Drillhole 80
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drilthole 81
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Log-Log plot of_differenti.al pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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i i i ffects:
Final check for high velocity flow ef B
High velocity flow effects are present when the slope is non-zero and positive.
° X Transect : Drillhole 81
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 82
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 82
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Finai check for high velocity flow effects:
High velocity flow effgcts are present when the slope is non-zero and positive.
X Transect : Drillhole 82
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 83
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: '
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 83
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 84
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
-~ X Transect : Drillhole 84
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 85
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Log-Log plot of differential preséures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 85
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is lihear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 86
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 86
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 86
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 87
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.

X Transect : Drillhole 87
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Relationship between steédy-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 88
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 88
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 88
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero,

there is no high velocity flow effect.
. X Transect: Drillhole 89
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Log-Log plot ofv'differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.

X Transect : Drillhole 89
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 90
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log1o(A(P?)

1.30

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 90
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Final check for high velocity flow effects:
High velocity flow effects are present when the siope is non-zero and positive.
- X Transect : Drillhole 90
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2 —
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 91
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LO D(P2) ===Poly. (D(P2)) ===Poly. (D(P2)) — Linear (D(P2)) ===Linear (D(PZ)H
Log-Log plot of.differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
s "= X Transeéct: Drillhole 91
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 91

8.7E-03 5 ‘
| | |
8.5E-03 {—O— - jt e ——
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| O D(P2)/Q =Linear (D(P2)/Q)

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 92
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 92
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
~-. X Transect : Drillhole 92
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 93
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Log-Log plot of di i
9--og p ohig:fsz‘;‘:;' ':I:fssuf;es squared vs. rowra.te--used to identify the presence of
y flow eftects (when the slope is greater than unity)
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : DriIIhol@
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Relationship between steady-state differential pressures squared and flowrate:
If relationship-is.linear, with the ordinate intercept nearly zero,
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 98
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
"= XTransect : Drillhole 98
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 99
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Log-Log plot of.differenti.al pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 99
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5.615E-03

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 99

TSN, R (RSN W —— S —— -

5.605E-03 +———

A(P?)IQ, psia®/(cc/min)

5.600E-03 T

5.595E-03 +—

,4[ - — E - S SR S ‘...,.,_...‘.,,.;;~ S S —

2 |
A(P?)/Q = -5E-08Q + 0.0057 !
5.590E-03 4 5 )
R“=0.2829 '
5.585E-03 s — L .
| |
5.580E-03 4 L - .
| | o
5.575E-03 — - — | | s : —
1550 1600 1650 1700 1750 1800 1850 1900 1950

Q, cc/min

| O D(P2)/Q =Linear (D(P2)/Q) |

081

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 100
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 100
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_ _ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 100
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. Sample Name Field | Well | Depth | Diameter|Length| Operator
: T ——— [ SempeWName | Fied | Wel | Deplh | Diameler [Longh Operaor | | |
Sample Name Field. .ﬁT‘ 1‘(’)":&91% @%né(?‘ter ~49 silljngWw S 7 permeability Escalante, UT| -6 hole T 4 | 58 | 4 | slongu | |
permeability (Escalante, UT | - . A NN COE R I | measurement + T; zer g _ ﬁ_’j
| | measurement | Geom. Fact.| Ref. Temp. | Viscosity | - — - | Outside Diam. Inside Diam. | Geom. Fact.| Ref. T Temp VISCOSIty . ' e
| Outside Diam. | Inside Diam. | Geom. Fact. ,_TC)—F’ ) —t (in) (in) N (cp) }
 (n) ed o ) AP % fffff R 092 | 092 | 7211 175 001738 | | cresHen RN W
. 092 7.211 1S | 0.01746 | - »)‘—_J—w~ new J ‘ ) |
— Date i Flow Press | Atm. Press | Flow Rate| Temp Date |  Time Flow Press | Atm. Press | Flow Rate| Temp. . |Sample/Readin
Date OW 195 | - : e (psia) (psia) (cc/min)
S . — : C e -
F (psia) . (ps'ﬁ 5 (cc’%g)s 2(2 )65 - 7/3/00| 10:01:38 AM 1228 1146  708.4 2| H6 | 1
- 7/3/00 B2 146 4907 22.82 d  7/3/00]  10:05:11 AM|  11.89 11.46]  478.2 20. 685.8600 H-6 | 2
7;3ﬁ00 18:23232 ':m - ,%-31 SS4e 2705 25.12 7/3/00, 10:06:46 AM| _ 11.77 11.46]  268.8 21. 534.8910 H-6 | 3
7/3/00 :39: : : : .
& ~SampleName | Field Well | Depth | Diameter [Length| Operator | |
permeability | Escalante, UT| -5 hole ole 4" 5/8" 4" silong lu |
permeablllty i | measurement | I I
| _measurement | Outside Diam. | Inside Diam. | Geom. Fact. Ref. Temp. | Viscosity o B S S
__Outside Diam. 4 | (i) . | (n) i _(©) (cp) | . R
- oe2 7211 | 275 | 0.0178 | 1
| 092 | 0% I N Bl - new B
" |  Date | Time Flow Press | Atm. Press | Flow Rate| | Temp. Perm. |Sample/Readin
R o _ (psia) | (psia) | (cc/min) | (md)
B i [ ' 6/29/00]  1:51:33 PM| 12.26 11.44  703.6 33. 555.9521 H-5 1
| 6/29/00] 1:54:23PM|  11.80] 11.44] 4780 841.3685| H-5 | 2
6/29/00  1:56:27 PM 11.74 11.44 404.8 . 850.8248, H-5 | 3
] i e — - —y
- | Sample Name ~ Field |  Well | Depth | Diameter Length| Operator | | |
| Sample Name ’ UT| -8 hole &G{g' u | - permeability Escalante, UT| -4 hole [ 4" 58" | silong lu v b
permeability 1. 2000 b :L*’ . measurement ] '
| measurement (bottom) | T I AR ~Viscosity — o 4 | Outside Diam. | Inside Diam. | Geom. Fact+ Ref. Temp Viscosity |
__Cﬂts/'?%%im_:_ Inside Diam. | Geom. Fact.| Rel. = SoR s - (i | (m) 7% e e
in I I S \d o S - T o
R o) I 001744 i ] B 092 0.92 — 7211 260 001774 |
— ) B ‘- | ————e . P A —_— —
B R— e Date{_ Time | Flow Press | Atm. Press | Flow Rate Sample Reading
tm. Press ‘ = Jﬁ : . —
| Flow Press «‘A—Ts?)j*‘”- | ! J o (psia) (psia) | (cc/min) (md)
“ psia) P*‘11—46 1. - 190.4 N L 8/29/00  2:00:54 PMI 11.855|  11.445|  508.4) 32. 823.4887 H-4 | 1 |
7/3/00| 10:16: 11_3_-_§3 e 3 2 | [ 6/29/00, 2:02:22PM|  12.095 7 0_4 E 730.0631 H-4 2
1 7/3;00 1019 %%A : 8+3{ - 6/29/00,  2:04:54 PM, 12.245 11.445 . 837.5385| H-4 | 3
7/3/00 21: Gl
YN S I R T Operator - t ;i;_rsra*mwel/\l?rh?i‘: Field | Well | Depth | Diameter |Length| Operator | [ | |
| SampleName | . 7"!}1‘?”}-- = “sionglu | ) permeability Escalante, UT | #-3 hole _ 4‘ 4| s [ & ,sn_!o,nglu,%%,_ﬁ 1
permeability Mﬂ 1. = — F e measurement | | N T ]
| measurement Soom Fact | Faf. Tom _ Outside Diam. | Inside Diam. | Geom. Fa.| Ri@&l@%@v_ o
) ,Outs_tf{e’%m__gns'de Diam. | Geom. Fact.| Ref. Temp. i M (©) (cp) 4}_*‘ I N
) ST 4 0.92 092 | 7211 24 5 01767 { [
. = I S - T
I - B | Date | Time | FlowPress | Atm. Press |Flow R ‘f—' 'Sample| ﬁdd—J
. ——— ate ime ow Press | Atm. ress ow Rate| Temp. S ample| Reading
tm. Press | Flow Rate| Temp. EESREHRSSE Perm. | Sam) - R oo S e S o
| Date | Time Flovyf[esd Atm.. r? sy | (coimin - [ “(psia) | (psia) | (cc/min) | (C) S
f_,j_#ﬁ (Ps‘a)‘jjp Tiial 2034 184.3265 T [ 6/29/00( 2:11:04 PNﬂ: 12,625 11.445  691.6 32.22 1 415.2469) H-3 1
__ 7/3/00] 10:09:27 AM} 2. 1? s 5 5778157 % | - | 6/29/00| 2:1326PM|  11.955  11.445 4457 32.05 599.9110 H-3 | 2
7/3;88 1821;-83 m %F 146 718.8, 21.4 2201498 H-7 | 3 | 6/29/00 2:17:22PM 11745 11445/  201.1] 31.82 452.8933 H-3 | 3 |
713 13: 54| : 8l el '

Py

LD, 12{lie|02- QLD, 12/1e]02—
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Sample Name Field |  Well | Depth | Diameter Length| Operator - ]
permeability | Escalante, UT| -2 hole 4" 58" | 4" | silonglu - ]
measurement
~ Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
i (n) () (cp) o L
[ 092 0.92 7.211 240 | 0.01765 ] -
- new ]
Date B Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample/Reading
(psia) | (psia) | (cc/min) | (C) (md) ]
6/29/00 2:20:27 PM 11.755 11.445 201.7| 31.62 445.6115| H-2 1]
6/29/00 2:22:45 PM 11.995| 11.445 466.0| 31.46 583.0962| H-2 2
B 6/29/00 2:24:18 PM 12.645 11.445 688.4| 31.32 403.1615] H-2 3
Sample Name Field Well Depth | Diameter |Length| Operator
 permeability | Escalante, UT| -1 hole 4" - 5/8" 4" silong lu -
measurement o 7 )
| Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity |
o (m (in) | ©) (cp) ]
0.92 0.92 7.211 230 | 001761 | | - -
new
Date Time | Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading
(psia) (psia) (cc/min) | (C) (md)
6/29/00] 3:09:32PM 1268 11.45|  699.6 30.14 400.9254 H-1 1
6/29/00]  3:41:25 PM 12.02 11.45| 4723 30.11 568.6682 H-1 | 2 |
-l 6/29/00 3:14:36 PM 11.78 11.45 208.1) 30.05 427.6735| H-1 3
~ Sample Name Field | Well Depth | Diameter |Length| Operator | | !
permeability Escalante, UT| 0 hole 4" 58" | 4 silong lu ;
measurement - . |
Outside Diam. |_Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | B
(in) _(in) (C) (cp) L
0.92 0.92 7211 | 230 | 0.01761 ]
new ]
Date Time Flow Press | Atm. Press | Flow Rate Temp. Perm. |Sample|Reading|
(psia) (psia) (cc/min) | (C) (md) i
6/29/00|  3:17:55 PM 11.79 1145 199.8| 30.00 398.0423 H-0 = 1 |
L 6/29/00/  3:20:06 PM|  12.04 1145 4721 29.97 547.0486 H-0 2 |
] 6/29/00 3:21:38 PM 12.74 11.45) 708.0, 29.91 384.7753] H-0 3
Sample Name " Field |  Well | Depth | Diameter Length| Operator
~ permeabilty | Escalante, UT| #1 hole 4" 5/8" 4" | silonglu i
measurement o B B
Outside Diam. Inside Diam. | Geom. Fact. | Ref. Temp. | Viscosity - ) ]
() . (in) ©) (cp) | - ] I
0.92 092 7.211 23.0 0.01761 ]
oW S
B ~ Date Time Flow Press | Atm. Press | Flow Rate| ~ Perm. | Sample Reading|
| (psia) (psia) | (cc/min) (md) ]
~ 6/29/00 3:24:17 PM 12.80 11.45 708.8 367.9214, H1 1
i 6/29/00|  3:48:14 PM 12.03)  11.45]  436.2 497.6641 H1 2
B  6/29/00]  3:51:52 PM| 11.81 11.45 204.9 372.0847| H1 3
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Sample Name | Field Well ~ Depth | Diameter [Length| Operator |
permeability | Escalante, UT| #2hole | 4 5/g" 4" silong lu | B
measurement | 7 ) ]
Outside Diam. _Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity l
(in) (in) (©) (cp) T
092 0.92 7.211 22.5 0.01759
. new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. | Sample|Readin
(psia) (psia) (cc/min) (md)
6/29/00 11.75 11.44 238.0 509.9924| H2 1
6/29/00)  4:01:40 PM 11.95 11.44 497.8 653.7831| H2 2
6/29/00]  4:03:38 PM 12.55 11.44 730.0 451.0500, H2 3
Sample Name ) Field Well Depth Diameter |Length! Operator
permeability Escalante, UT| #3 hole 4" 5/8" 4" silong lu
measurement ) |
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | ]
(in) (in) ©) (cp)
0.92 092 7.211 215 | 0.01755 B N
) i ) ] new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Readin
) ) (psia) (psia) (cc/min) | (C) (md) %
6/30/00  10:08:14 AM 12.475 11.435 641.2| 22.39 341.7402| H3 1
6/30/00| 10:11:17 AM 12.085 11.435 487.1| 22.94 419.1103, H3 2
6/30/00| 10:13:28 AM 11.805 11.435 201.2| 23.32 305.6367) H3 3
| Sample Name | Field |  Well | Depth | Diameter |Length] Operator ] ]
permeability | Escalante, UT|  #4 hole | 4" 5/8" 4" silong lu
| measurement (bottom) | i
Outside Diam. |_Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity |
(in) } (in) ©) (cp)
| 092 0.92 7.211 225 0.01759 !
o - ! | - new
| Date Time | Flow Press | Atm. Press Flow Rate| Temp. Perm. |Sample Readin
} (psia) (psia) (cc/min) | (C) (md)
) 11.845 11.435 199 ; 265.9715| H4 1
6/30/00| 10:21:15 AM| 12.135 11.435 488.5 402.9558| H4 2
6/30/00] 10:23:05 AM| 12.675 11.435 670.4 322.6421 H4 | 3
| SampleName | Field |  Well Depth HWLDiameter 'Length|  Operator 1
permeability  Escalante, UT|  #5 hole 4" 5/8" | 4" silong lu B ]
_ measurement ) ) ‘ j |
| Outside Diam. ‘ Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity N
Gm oG T ©) (P N -
0.92 \ 092 7.211 23.0 0.01761 ]
| ! new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading
] ] (psia) (psia) (cc/min) | (C) (md)
6/30/00, 10:29:14 AM 12.585|  11.435  661.6| 26.02 349.0590, H5 1
6/30/00| 10:33:11 AM 12.055 11435  462.3| 26.58 4526735 H5 2
6/30/00)  10:35:30 AM 11.825 11.435 198.4| 26.89 309.5088 H5 3
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~ SampleName | Field | Well Depth Diametel[j#engthlr Operator | T -
permeability Escalante, UT | #6 hole 4" 58" | 4" | silonglu | , _—
| measurement | I A R R 1 ]
Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | - |
| (i) (i) L (© ep) |
0.92 0.92 7.211 22.5 0.01759 L
) - new —
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample|Reading
(psia) (psia) | (co/min) | (C) ma) ]
B 6/30/00| 10:38:37 AM 11.905 11.435 194.4| 27.26 2613475 He | 1 |
| 6/30/00| 10:40:55 AM 12.225 11.435 480.5| 27.55 393.4482| He 2
6/30/00|  10:43:06 AM 13.075 11.435 733.6] 27.88 302.3236| H6 3
Sample Name ~ Field Well Depth | Diameter | Length| Operator
permeability Escalante, UT|  #7 hole 4" 5/8" 4" silong lu
measurement - ) . -
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity B
(in) (in) - (C) (cp) |
0.92 0.92 7.211 23.0 0.01761 |
] o ‘ new | 1
B Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading
~ (psia) (psia) (cc/min) | (md) |
6/30/00| 10:46:32 AM 13.225 11.435 735.6 277.6802 H7 1
6/30/00! 10:50:30 AM 12.235 11.435 436.8 1 361.1186] H7 2
6/30/00] 10:53:04 AM 11.945 11.435 191.5 247.8569 H7 3
Sample Name | Field Well ~ Depth Diameter |Length) Operator | L
permeability | Escalante, UT |  #8 hole 4 5/8" 4" silong lu I
measurement w " N -
Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity B ) o B
(in) (in) © (cp) L ]
0.92 0.92 7.211 235 | 0.01763 I
new |
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading
(psia) (psia) | (cc/min) = (C) o (mdg)
- 6/30/00| 10:57:14 AM 11.845|  11.435 187.3| 29.46 1 298.6107, H8 | 1
B 6/30/00| 10:59:01 AM 12.155 11.435 473.0) 29.64 437.5226) H8 2
6/30/00| 11:00:16 AM 12.905 1 11.435 695.2| 29.76 3254089, H8 | 3
| Sample Name Field |  Well Depth | Diameter [Length| Operator | ]
permeabilty | Escalante, UT | #9 hole_ 4 58" | 4" | sionglu | | o
‘measurement (bottom) e 3
| Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | - |
) © | e | N
0.92 | 0.92 7.211 240 0.01765 | - N
- ' - N ] new
Date Time Flow Press | Atm. Press | Flow Rate Temp. Perm. | Sample|Reading|
i (psia) (psia) (cc/min) (md) |
- 6/30/00] 11:02:42 AM 12.385 11.435 695.6 488.0702) H9 1
- 6/30/00] 11:05:28 AM/,  11.885 11.435 449.4 658.8138] H9
6/30/00] 11:06:42AM| . 11.735 11435 2459 540.2000 H9 3

[ SampleName |  Field | Well | Depth | Diameter [Length] Operator | |
permeability Escalante, UT| #10 hole 4" 5/8" 4" silong lu
measurement ) B B N
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. \/iscosity
(in) _ (in) - © | (op) N
0.92 | 0.92 7.211 24.0 0.01765
new
Date Time Flow Press | Atm. Press | Flow Rate Perm. |Sample ReadingH
- (psia) (psia) (cc/min) (md)
| ~6/30/00| 11:09:04 AM 11.975 11.435 196.3 243.6390| H10 1
| 6/30/00] 11:10:27 AM 12.365 11.435  490.5 361.3633 H10 | 2
6/30/00| 11:11:38 AM 13.445 11.435 736.4 262.2801] H10 | 3
Sample Name i Field Well Depth Diameter |Length| Operator
permeability  Escalante, UT |  #11 hole 4" ~ 5/8" 4" silong lu
| measurement B
Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | O
(in) () ©) | () N
0.92 0.92 7.211 24.5 0.01767
o 7 new ) ]
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading|
(psia) (psia) (cc/min) | (C) (md)
. 6/30/00] 11:14:05 AM 12.805 11.435 742.8| 31.28 375.5932] H11 1
| 6/30/00| 11:15:31 AM 12.065 11.435 479.8| 31.47 515.8561| H11 2
6/30/00) 11:17:54 AM 11.785 11.435 182.6| 31.74 3523381 H11 | 3
SampleName |  Field |  Well Depth | Diameter |Lengthl Operator - ]
permeability  Escalante, UT|  #12 hole 4 | 58" 4" silong Iu
measurement B
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity |
(in). (in) , © | (p
0.92 092 | 721 260 | 0.01774
o new |
~.Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample| Reading|
; _ (psia) (psia) (cc/min) | (C) (md)
6/30/00] 11:20:46 AM 11.865 11.435 180.7| 32.03 271.8447| H12 1
6/30/00 11:22:57 AM 12.225 11.435 490.3| 32.22 409.7858| H12 2
6/30/00, 11:24:30 AM 13.105 11.435 682.8| 32.34 280.0541| H12 3 |
Sample Name Field | well Depth | Diameter |Length| Operator )
permeability Escalante, UT| #13 hole 4" 5/8" 4" silong Iu o
measurement (bottom) | - |
| Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity |
() 7 (im) (©) (cp) i
0.92 - 092 7211 | 255 0.01771 B
) new
| Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample|Reading|
| - (psia) (psia) (cc/min) | (C) (md)
| ~ 6/30/00] 11:26:53 AM 13.535 11.435  687.2 32.54 233.0138| H13 1
~ 6/30/00] 11:28:30 AM 12.465 11.435]  467.1| 3258 311.0847| H13 2
6/30/00, 11:31:04 AM 12.025 11.435| 188.0| 32.72 215.7430] H13 3
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SampleName |  Field | Well [ Depth | Diameter Length| Operator ] Sample Name Field ~ Well | Depth | Diameter Length| Operator \ 1
permeability _Escalante, UT _ #14hole | = 4" 5/8" 4" | silonglu 1 permeability Escalante, UT| #18hole | 4" 58" | 4" | silonglu J ]
measurement ‘ ) ] N | measurement | | o
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity 4 | Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity N R
~(in) (in B © | (cp - 3 ’ N - (in) (in) ©) (cp) B ]
| 092 0.92 7211 240 | 0.01765 0% | 092 7211 - 250 0.01769 B ] ]
new
Date Time Flow Press | Atm. Press | Flow Rate| Temp.. Date ‘ Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading
(psia) _(psia) (cc/min) (md) ) (psia) (psia) (cc/min) | (C) (md)
6/30/00] 12:32:54 PM|  12.981  11.431 69238 330.9134| H14 | 1 6/30/00| 12:54:47 PM 12.181] 11431  178.4] 34.74 175.3410, H18 | 1
6/30/00| 12:35:04 PM 12.161 11.431 467.5| 32.65 460.7466| H14 2 6/30/00| 12:57:01 PM 12.821] 11431 491.6| 34.89 268.3134| H18 2
6/30/00| 12:37:31 PM 11.841 11.431 187.7 327.1042| H14 3 6/30/00| 12:58:12 PM 14.551 11.431 754.4| 35.02 195.0534| H18 3
Sample Name Field Well Depth | Diameter [Lengthl Operator | ] | Sample Name Field Well | Depth | Diameter [Length| Operator
permeability Escalante, UT| #15 hole 4" 5/8' | 4" silong lu IR L permeability | Escalante, UT | #19 hole 4" 5/8" 4" silong lu
measurement | measurement ) ) o o ]
| Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | ] Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity T
(in) (in) O (cp) , ] o - (in) (in) (C) (cp) |
092 | 092 7211 | 245 0.01767 ] 092 0.92 7211 | 250 | 001769
new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. . |Sample|Reading Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample|Reading|
- . (psia) (psia) (cc/min) X I . (psia) | (psia) (cc/min) | (C) (md)
6/30/00| 11:33:52 AM 11.955 11.435 179.7 241.7686| H15 1 6/30/00 1:00:55 PM 13.561 11.421 736.8| 35.22 270.7445] H19 1]
6/30/00| 11:35:56 AM|  12.405 11.435 492.2 361.7388! H15 2 ‘ 6/30/00 1:02:35 PM 12.321 11.421 462.3] 35.31 387.1486| H19 2
6/30/00{ 11:37:19 AM 13.385, 11.435 688.4 260.8300; H15 3 6/30/00 1:04:23 PM 11.931 11.421 196.8| 35.38 286.9033] H19 | 3
Sample Name Field Well | Depth | Diameter |Length| Operator j N Sample Name Field | Well ~ Depth | Diameter |Length) Operator ]
permeability Escalante, UT| #16 hole 4" 5/8" 4" silong lu permeability Escalante, UT | #20 hole 4 5/8" 4" silong Iu N
measurement " T - ~ méasurement | B ) B
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | - i | Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity N
. (in) (in) L © | (ep . - (in) ; (in) | (C) (cp) )
092 0.92 7211 | 240 0.01765 - 0.92 o 0.92 7.211 1 25.0 0.01769 | t
) - ] new new |
Date Time Flow Press | Atm. Press | Flow Rate Perm. |Sample|Reading ‘ Date Time Flow Press | Atm. Press | Flow Rate Perm. |Sample|Readin
- | (psia) (psia) (cc/min) | (md) |~ s (psia) (psia) (cc/min) | (md) i
6/30/00/ 12:40:04 PM 11.901 11431 186.8 3 286.5029) H16 | 1 6/30/00  1:06:38 PM 11.921 11.421]  188.8 35. 281.4234] H20 | 1
6/30/00| 12:41:27 PM 12.291| 11.431 486.9] 33. 416.6997| H16 | 2 | 6/30/00 1:08:18 PM 12.351| 11.421 477.8| ! 389.9802] H20 | 2 N
6/30/00] 12:42:36 PM 13.211 f 11.431 704.0 302.4713] H16 | 3 6/30/00 1:09:49 PM 13.471 11.421 717.6| 35.55 276.9990, H20 | 3
Sample Name ~ Field Well | Depth | Diameter [Length| Operator ' Sample Name Field Well | Depth | Diameter [Length| Operator | [
permeability Escalante, UT| #17 hole | 4" 5/8" 4" | silonglu | | permeability _Escalante, UT| #21 hole & 58 4 silong Iu - - ]
measurement B | ' N - B o ~_measurement | - B ;” 7 i o
| Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | I ~ Outside Diam. | Inside Diam. ~Geom. Fact.| Ref. Temp. | Viscosity i ]
(i) (in) S © e (in) Lo . © e ) ]
0% | 082 | 7211 | 240 001765 S I 092 | . 082 | 7211 | 250 | 001769 : -
new
- Date Time Flow Press | Atm. Press | Flow Rate Sample| Reading| | Date Time Flow Press | Atm. Press | Flow Rate Temp. Perm. |Sample Reading
| (psia) (psia) (cc/min) md) . I | (psia) (psia) (cc/min) | (C) (md)
|~ 6/30/00] 12:48:32PM|  14.081 11.431] 6636 202.0651 H17 | 1 | - 6/30/00,  1:12:31PM 13.131 11.421] 7192 3555 328.9077, H21 | 1
~ 6/30/00 12:50:14PM|  12.751 11.431]  466.2 273.4593] H17 2 o 6/30/00]  1:14:02 PM| 12101, - 11.4211  431.7| 3557 477.8307 H21 2
6/30/00] 12:52:44 PM| - 12171 11.431 179.2 1845435 H17 | 3 6/30/00, _ 1:16:59 PM 11.821 11.421]  190.6| 3552 354.0679] H21 3 ]
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Sample Name Field Well | Depth | Diameter [Lengthl Operator Sample Name | Field _ Well _Depth | Diameter [Length Operator |
- permeability Escalante, UT| #22hole | 4" | 58 | 4" | silonglu permeability Escalante, UT| #26 hole 4 58" | 4" | sionglu |
measurement (bottom) - ) IR measurement ) | i -
[ Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity - Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity -
! (in) (in) ' © | (P ) (i) (in) - (©) (cp)
[ o092 0.92 7.211 250 | 0.01769 | I 0.92 0.92 7.211 235 | 0.01763
new ] : . ] new T
B Date Time Flow Press | Atm. Press | Flow Rate| Temp. ~ Perm. |Sample|Reading Date Time Flow Press | Atm. Press | Flow Rate) Temp. Perm. | Sample Reading|
(psia) (psia) (cc/min) | (C) (md) (psia) (psia) (cc/min) | (C) (md)
6/30/00 1:19:48 PM 11.861 11.421 185.2| 35.48 312.9269] H22 1 6/30/00 2:21:26 PM 11.745]  11.435 225.9| 32.17 517.9786| H26 1
i 6/30/00 1:21:48 PM 12.261 11.421 4715 354 423.1391] H22 2 '6/30/00 2:23:23PM| 11.925 11.435 489.1| 32.16 714.6111| H26 2
6/30/00 1:22:590 PM 13.251 11.421 697.6/ 35.35 2976865 H22 | 3 6/30/00 2:25.00 PM 12.495 11.435 750.4| 32.16 518.3978, H26 3
| sample Name Field | Well | Depth | Diameter [Length| Operator | ] Sample Name [ Field | Well | Depth | Diameter |Length| Operator 1
permeability Escalante, UT| #23 hole 4" | 58" 4" | silonglu i permeability | Escalante, UT| #27 hole 4" 5/8" 4 silong Iu
measurement (bottom) ] measurement E | )
| Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity Out§_iqe Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
(in) (in) ©) (cp) ) B o (in) (in) ©) (cp)
0.92 0.92 7.211 245 0.01767 0.92 0.92 7.211 23.5 0.01763 B i
) - 1 new : , A new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |SamplelReadin
(psia) (psia) (cc/min) | (C) (md) | [ (psia) (psia) (cc/min) | (C) (md)
6/30/00 1:24:56 PM 12.751 11.421 700.4] 35.28 410.8728 H23 1 6/30/00 2:27:17 PM 13.425 11.435 751.6| 32.17 286.1308| H27 1
- 6/30/00 1:26:32 PM 12.021 11.421 483.4| 35.20 609.6725] H23 2 6/30/00,  2:28:56 PM 12.325 11.435 470.6| 32.25 385.7436| H27 2
I _6/30/00 1:2935~p—m_ o 11.731 11.421 iseg 35.05 448.8847 H23 ‘ 3 6/30/00 2:31:32 PM 11.965 11.435 197.3| 32.42 269.1087| H27 3
Sample Name Field Well Depth | Diameter | Length] Operator i Sample Name Field Well Depth | Diameter |Length| Operator
permeability Escalante, UT| #24 hole 4" | 5/8" 4" silong Iu | O permeability Escalante, UT | #28 hole 4" 5/8" 4" silong lu
measurement (bottom) ‘* . N T measurement ] |
| Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity B ] Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
(in) (in) (€) (cp) o | _(in) ~ (in) ©) (cp)
0.92 0.92 7.211 240 | 0.01765 B ] 4 2082 | 0@ 7211 | 240 | 001765
' | — . = i , 7 | | new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. Sample/Reading ; 3 . Date { Time | Flow Press | Atm. Press | Flow Rate| Temp Perm. |Sample|Readin
| (psia) (psia) | (co/min) | (C) (md) _ - - g (psia) (psia) | (cc/min) (md)
, 6/30/00,  1:32:07 PM 11.991 11.421]  207.5/ 34.92 278.3236] H24 1 | : . . 6/30/00]  2:3¢:10PM  11.975 11435  189.0 249.7324) H28 1
~ 6/30/00,  1:33:12PM 12.441 11.421]  486.3| 34.86 370.4210[ H24 | 2 | : - 6/30/00]  2:36:03 PM 12.355 11435 4749 3761117 H28 | 2 |
6/30/00]  1:34:09 PM 13551 11.421]  690.4| 34.77 2614325 H24 | 3 > - 6/30/00|  2:37:38 PM 13.445 11.435] 7288 276.4091, H28 | 3
Sample Name | Field Well Depth | Diameter | Length| Operator ] - - - . SampleName Field | Well | Depth | Diameter [Length| Operator | |
permeability | Escalante, UT | #25 hole 4" 5/8" 4" | silong lu ] permeability Escalante, UT| #29 hole 4 5/8" 4" silong lu ‘ B
measurement | | 1 1 o - b | measurement - i -
" Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | | | . 1 ' _ Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity ™
(in) (in) © | e T 1 SR ([1) R N2 (11) B ~ (©) (cp)
092 092 | 7211 | 240 | 001765 [ ] - = 0%, 1 092 7.211 240 | 0.01765 s
new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. | Sample|Reading ) Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading|
i (psia) (psia) (cc/min) ; (md) ] e N (psia) (psia) (cc/min) (md)
[ 6/30/00]  2:12:36 PM 12.985 11.435 7036 3345177] H25 | 1 | » _ 6/30/00]  2:39:43 PM 13.875 11435/ 7336 234.3410 H29 | 1 |
6/30/00, 2:15:12PM|  12.185 11435 4658 4421127] H25 | 2 ] - 6/30/00]  2:41:45 PM 12.515 11435/ 4533 313.8979| H29
6/30/00 2:17:07 PM| . 11.885 11.435 189.4 295.4468| H25 3 6/30/00 2:43:39 PM 12.095 11.435 191.3 214.5713| H29 3
a ; -
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Sample Name | Field Well Depth | Diameter |Length] Operator 1 | | ~ Sample Name }Vﬁkﬁeld Well Depth | Diameter |Length| Operator |
~ permeability | Escalante, UT| #30hole | 4" | b5/8" | 4" | silonglu | | - . permeability _Escalante, UT  h34 4 J 5/8" 4" |robert bridges T
measurement - B | S S UGS A S E __measurement (top) N S _ - 7 ]
[ C OutS|de D'a”T | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | ; ) ] k- Outside Diam. " Inside Diam. | Geom. Fact.| Ref. Temp. Viscosity | —— - S N
- ) ) € | P . . . B 4 (i) () T © | e | — , . ——
092 0.92 7211 [L 240 | 001765 | I R . 092 092 7.211 Jrr 255 boﬁﬂ - SR —
a B b - ) new B
S Time | Flow Press | Atm. Press | Flow Rate| T Sample Reading k. | Date ~ Time | Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample|Reading
| (psia) ~ (psia) (cc/min) | , . i “1 |  (psia) (psia) (cc/min) (md)
6/30/00 2:46:26 PM 11945 11.435 191.2 | 277.7351| H30 1 4 ‘:! - 7/1 2/00| 10:23:18 AM 12.309 ~11.489 188.4 142.0043| H34 1
6/30/00 2:48:11 PM 12.315 11.435 472.7 405.7784| H30 2 2 """*' |  7/12/00| 10:25:17 AM ~ 12.889 11.489 477.8 217.5152| H34 2 1
[ 6/30/00 2:50:08 PM 13.295 11.435 689.2 292.2533| H30 3 . ' ;' - 7/12/00;  10:26:30 AM| 14.269 11.489) 706.0 170.4953, H34 3 1
e
Sample Name ~ Field ~ Well | Depth Diameter |Length| ~ Operator S I AN 3 $h Sample Name Field Well Depth | Diameter [Length] Operator
permeability | Escalante, UT| #31 hole 4" 5/8" 4" | silonglu ) g permeability | Escalante, UT | #35 hole 4" | 58" 4" silong lu T
measurement o | | ) . S I - kL | measurement | R J . [ -
[ Outside Diam. | Inside Diam. | Geom. Fact. Ref. Temp. | Viscosity | ‘ ] b Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | ) ] I
(in) (in) ©) (cp) ] 4 3 : (in) ) () . (© (cp) ]
092 | 092 | 7211 | 255 | 001771 , il [ 0e 092 | 7211 | 195 | 001746 | -
: , , omew 4 A B — T 7 1
Date | Time | Flow Press | Atm. Press | Flow Rate| Temp. Perm. | Sample|Reading - ol Date | Time | Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample| Readin
| (psia) (psia) | (co/min) | (C) BS(me)  (md ] i . | (psia) (psia) | (cc/min) | (C) (md)
| 6/30/00|  2:54:40 PM 15.595 11.435 690.8 34.72 134.2884| H31 1 ] ' - 7/3/00 % 12.181 11.406| 199.0| 24.00 165.6398] H35 1
6/30/00 2:56:05 PM 13.555 11.435 490.4§ 34.83 176.4257) H31 | 2 . ~ 7/3/00| 10:54:26 AM 12.686 11.406 4995 24.28 259.6677| H35 2 |
6/30/00 2:58:17 PM 12635 11.435 195.1 I 34.97 120.4845, H31 3 3 . 7/3/00] 10:55:58 AM|  13.946 11.406 722.8| 24.38 198.6311, H35 3
| SampleName | Field Well Depth | Diameter |Length| Operator | B A Sample Name ~ Field |  Well | Depth | Diameter Length| Operator |
e Ecalante, UT| 32 2 5/8" 4" |robert bridges 7 i = . permeability |Escalante, UT| #36hole | 4" | 5/8" 4" | silonglu s
measurement B . . 1 3 T measurement | ] ) B ] BN
| Outside Diam. inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity L - : Outside Diam. | Inside Diam. | Geom. Fact. Ref. Temp. | Viscosity | = _—
m ©) (cp) | - 1 : T S T - SR . —
0.92 092 | 7211 25.0 0.01769 | ‘ 0.92 ose | 72t 205 SOl - :1
o _ N ) new
~ Date | Time Flow Press | Atm. Press | Flow Rate| Temp. >erm. | Sample| Reading . | . Date | Time | Flow Press [ Atm. Press | Flow Rate Perm. |Sample|Reading
) ~ (psia) (psia) (cc/min) ] * = , i - B (psia) (psia) (cc/min) |  (md)
7/12/00 12.299 11.489 190 1135.1823 H32 1 B ‘ o 7/3/00[ 11:04:37 AM 13.851 11.401 711.6 - 198.6961| H36 1
7/12/00 13039 11.489 472 183.7687 H32 2 | A © 7/3/00)  11:08:18 AM 112.601) 11.401]  470.5| 25.45 260.0987| H36 | ’2‘4
7/12/00 14.789, ' 11.489 761 1483994 H32 3 A ; 7/3/00,  11:10:35 AM| 12.151] 11.401]  202.9 177.9568] H36 | 3
SampleName |  Field |  Well | Depth | Diameter Length Operator L I ,  SampleName |  Field | Well | Depth [ Diameter[Length| Operator | j
e ‘Escalante, UT| 133 4 | 58 | 4" [robertbridges ] ] permeability | Escalante, UT| #37hole | 4" | 5/8" i 4" silong lu ) i »
| measurement = - — L — L | - Y ~ measurement I -
| Outside Diam. | Inside Diam. | Geom. Fact. Ref. Temp. | Viscosity , SN R B | | Outside Diam. IHSIde‘ng) Geom. Fact. Ref. Temp. | Viscosity ] - ,—‘
;_ (in) | (in) S — ©) | (cp) - [ IR N ‘ () ,,E;,, : ~(in) WF j ©) "ﬁr (cp) 5 B — f\ — L -
0.92 092 | 7211 | 250 | 001769 . 7 7 092 | o0 S5 o o : I -
- R § . o | - N new | T
Date Time | Flow Press | Atm. Press | Flow Rate p. NREIMEEN  Perm . Sample| Reading ) = Date | Timgf/FFlow Press t Atm. Press | Flow Rate| Temp. Perm. |Sample|Reading
B ) T (psia) (psia) | (cc/min) | (C) , A I - | (psia) | (psia) (cc/min) | (C) (md)
772100 104517 AM|  13.179 11.489  752.4| 28. 279.1145] H33 | 1 - 7/3/00]  11:14:19 AM 12021 11.401  191.9| 26.09 196.6504 H37 | 1
- B 7/12/00| 10:18:04 AM|,  12.239 11.489 457.7| 28.94 | 374.6907| H33 | 2 | = - 7/3/00]  11:16:39 AM 12411 11.401 467.6| 26.37 301.9222( H37 2
[ 7712/00] 10:19:57AM[. __ 11.959]  11.489 1952 29.20 254.4040| H33 | 3 ] 7/3/00] 11:17:57 AM|____ 13561 11.401|  726.4) 2652 229.8946] H37 | 3
v .
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SampleName |  Field | Well | Depth | Diameter Length] Operator Sample Name Fieldk | Well | Depth | Diameter [Length| Operator | ]
permeability Escalante, UT| #38 hole | 4"  5/8" 4" | silonglu 'J‘ﬁi ] " permeability Escalante, UT | #42 hole 4" 5/8" 4" | silonglu
measurement N " o ] R ] ‘measurement (bottom) | o
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity B } B | Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity |
_(in) (in) C) | (cp) | | AR () A () A A (%) (cp)
0.92 0.92 7.211 22.0 0.01757 ! ] 0.92 0.92 7.211 24.5 0.01767
new - new
| Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. | Sample|Reading| Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample|Reading
B (psia) (psia) | (cc/min) | (C) (md) | ¢ (psia) (psia) | (cc/min) | (C) (md) ]
7/3/00| 11:20:15 AM 14.341 11.401 726.4| 26.73 170.8031| H38 1 7/3/00| 11:58:11 AM 14.171 11.401 1706.0| 31.06 183.9140| H42 1
7/3/00| 11:22:56 AM 12.801 11.401 472.0| 27.00 2235124, H38 2 E 7/3/00| 11:59:59 AM 12.721 11.401 477.1] 31.25 249.7158| H42 2
7/3/00]  11:26:26 AM 12.251 11.401 196.4, 27.30 151.6771] H38 3 | 7/3/00] 12:03:06 PM) 12.161 11.401 195.3] 31.48 175.0383] H42 3
Sample Name Field Well Depth | Diameter | Length| Operator ] § SampleName |  Field | Well | Depth | Diameter |Length| Operator
permeability Escalante, UT| #39hole | 4" 5/8" 4" | silonglu | permeability Escalante, UT| #43hole | 4" 5/8" 4 silong Iu
measurement B N 4 ’ measurement e o o
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity -
(in) (in) | (©) (cp) ] 1 n (in) . (in) (©) (cp)
1 0.92 0.92 . 7.211 23.0 0.01761 F 0.92 0.92 7.211 240 0.01765 | |
) ] B new 1 | new ]
Date Time | Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Readin - = ~ Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Readin
(psia) | (psia) | (coimin) (O) ma o] R (psia) | (psia) | (co/min) = (C) (md) |
7/3/00| 11:30:46 AM 11.711 11.401 209.7| 27.72 422.8634| H39 1 7/3/00| 12:06:50 PM 12.256 11.396 185.9| 31.71 151.8356] H43 | 1
7/3/00| 11:34:57 AM 11.891 11.401 480.7| 28.21 628.7911 H39 2 | i 7/3/00] 12:09:34 PM 12.936 11.396|  491.4| 31.91 231.4084| H43 .| 2
7/3/00] 11:36:58 AM 12.461 11.401 721.2| 28.45 4498750 H39 | 3 | 7/3/00] 12:10:52 PM 14.466 11.396 684.4) 32.00 170.5782] H43 3
Sample Name Fielk |  Well | Depth | Diameter |Length] Operator ] 4  SampleName |  Field Well Depth | Diameter | Length| Operator
permeability Escalante, UT | #40 hole 4" 5/8" 4" | silonglu o - = permeability | Escalante, UT | #44 hole 4" 5/8" 4" |silong lu }
measurement (bottom) | , . | measurement (bottom) L
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity - “|  Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
(in) . © (cp) 1 - ) (in) ©) (cp) .
0.92 092 | 7211 245 | 0.01767 - 2 092 0.92 7.211 240 | 0.01765 | -
1 R new ] - = [\ new
Date ~ Time | Flow Press | Atm. Press | Flow Rate Temp. Perm. | Sample|Reading N Date Time | Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample|Readin
_ (psia)  (psia) (cc/min) | (C) (md) o _ . F . (psia) (psia) (cc/min) | (C) (md)
| 7/3/00] 11:40:19 AM 14.301 11.401 719.2| 28.93 167.3602| H40 1| . : . 7/3/00] 12:14:12 PM 15.286 11.396 685.2| 32.25 139.1197| H44 1
7/3/00] - 11:42:48 AM 12,761 11.401 469.0| 29.23 223.1861| H40 2 | 7 ' 7/3/00| 12:16:37 PM 13.346 11.396 481.1] 32.43 184.4929| H44 2
7/3/00] 11:46:47 AM 12.191]  + 11.401 187.1] 29.71 152.4321] H40 3 - - 7/3/00| 12:19:09 PM 12.496 11.396 190.8| 32.63 126.5426| H44 3
. Sample Name Field ~ Well ~ Depth | Diameter |Length| Operator | W ] ] i Sample Name | Field Well Depth | Diameter |Length| Operator -
permeability Escalante, UT| #41 hole 4 5/8" 4" | silong lu 1 permeability  Escalante, UT | #45 hole 4 5/8" 4" | silonglu
| measurement (bottom) | L N __ measurement . | o
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | ] M | Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity T
(in) (in) ) (€) (ep). | ] B (in) | #(in) . © cp) |
0.92 092 | 7211 25.0 | 0.01769 T - 0.92 092 | 7211 240 | 001765 |
1 “hew | ] - new —
Date Time | Flow Press Atm. Press | Flow Rate Temp. Perm. |Sample Reang Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample|Reading|
- ] (psia) (psia) | (cc/min) | (C) (md) o § 1 | (psia) (psia) (cc/min) | (C) (md)
| 7/3/00] 11:50:08 AM 11.971 11.401 180.1 : 213.8377 H41 1 a 7/3/00) 12:23:17 PM - 11.836 11.396 201.7| 32.88 328.2608| H45 1
| 7/3/00| 11:52:42 AM 12.411 11.401]  481.7] 3 331.7317| Ha1 2 - = 7/3/00| 12:25:02PM|  12.186 11.396]  480.4/ 33.00 4432880 H45 | 2
7/3/00] 11:55:10 AM| . 13.541 11.401 707.2 242.0253] H41 | 3 | ] 7/3/00] 12:26:47 PM 13.246 11.396 740.8 33.12 304.7502| H45 3
P - )
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, , SampleName | Field | Well Depth | Diameter [Length| Operator
___Sample Name _ Field Well Dep"lth D|anj%ter rLern?th VQ_pgrator = permeability Escalante, UT |H50 revisited 4" f 5/8" 4" robert bridges -
permeability Escalante, UT| #46hole | 4 58" | 4" silonglu | 1] measurement (top) | —r— - L —
measurement | _ . . e — S I E— Outside Diam. | Inside Diam. | Geom. Fact. Ref. Temp. | Viscosi B E—
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity 7 o) lam. | = ; - Fact. I(C) p. IS((;;TIW *
(in) . (in) | L (©) (cp) | & 2 { 0.92 ~ : > - ]
0.92 0.92 7.211 240 | 001765 ] 092 7.211 26.5 0.01776 ] N
- ] new i .
L T Ti Fi : : . i
Date Time | Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading Date SIS o(gsli:;ess Atr?pslijan)ess F('g;’;ni:i;e T?g‘)p - Sample/Reading|
(pea) (pele) (cafmin) | (C) (md) Y, e 7(7/00 3:06:50 PM 11.896 11.416 1
- S :06: ; . 98.5| 37.59 309.0240; H50 1
7/3/00,_12:30:38 PM Lo - F56, 6354 8061710, W48 L 1 ~ 7/7/00]  3:08:38 PM 12.296 11.416 456 4L37 56 3935170 H50 | 2
7/3/00] 12:34:26 PM 12.186 11.396]  470.1 33.60 4416707| Hae | 2 | 70, 30895 PM 1229 1416, 4864, 9750 Sopim) Bou | 2
7/3/00) 12:38:12 PM 11.836 11.396 201.5/ 33.85 : 337.6098] H46 3 ks : : : : :
' . - e Sample Name Field | Well Depth | Diameter [Length| Operator [ |
Sample Name Field Wall Depth | Diameter |Length Opera}or l s perr?weabnhty | Escalante, UT| #51 hole 4E') ) 5/8" 45J si?ong lu |
permeability Escalante, UT [H47 revisited 4" 5/8" 4" [robert bridges measurement (bottorn) - 3 - J U
measurement = - e - — - - — _ ]
S - Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosi
Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | ] — T g © P '(c%),,!y |
(i) (n) | (€ . ( P - — [
T 092 | 0 92 7.211 265 9 01776 - 0.92 0.92 7.211 250 | 0.01769 |
Atm. P Ti Atm. ' Temp. i
Date Time | Flow Press | Atm. Press | Flow Rate Temp. Date _ Jime Flo(‘gs'?;,ss tr?psFi)an)ass F('gg:i:;e Tg)p_ Sample Reading
| . . d .
(psia) (psia) (CCImm) ©) (m ) H B 7/3/00 1:36:09 PM 12.096 11.386 204.0 215.0152| H51 1
yres. 329 m ﬁ'g;g ]}'i]i Zgé% 222';‘28‘9‘ Hj; ;v 7/3/00]  1:39:39 PM 12586  11.386]  470.9| ¢ 299.0560| H51 2 |
7700, %31:45 : 116l ReE 4| : * 7/3/00]  1:42:19 PM 13.986 11.386,  714.4) 3525 219.6019] H51 3
7/7/00 3:33:21 PM 11.746 11.416 365.4| 37.17 813.0932| H47 3 _
I , . e : ‘ [ SampleName | Field Well Depth | Diameter |Length| Operator
____Sample Name Field Well _Depth _ Diarheter [Length| Operator L = perrﬂeablllty ‘ Escalante, UT| #52 hole 4? . 5/8" 45L si?ong lu )
permeability Escalante, UT |H48 revisited 4" 5/8" | 4" [robert bridges Ry i ‘ ' ¥ - |
measurement ‘e = o — — L | ]
- ? - ] Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Visco
~ Outside Diam. | Inside Diam. | Geom. Fact. Ref. Temp Viscosity | | B ; u '(in) lam 1 (in)l e p | *J‘(?p?flty | % [
~(in) | (in) © . p) : | ‘ ] - ~ _— | | )
0.92 092 7.211 265 | 001776 | R S92 092 | 7211 250 | 0.01769 } - ! a
h new o ) - | ]
R T T | T 1 : "
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading Pate B Ime F '0(‘/;:;)953 AtTpsFi:)ess E(lggrg:;e P(fnr(rjr; Sample| Reading
I ' (psia) (psia) | (cc/min) (md) ‘ —— C
11416 37, 1 t7/3/00] © 1:50:06 PM 13.756 11.386 700.8 233.2363| H52 1
0000, SZAGRM 11768, 11ATCL 24281 o1i3ds, nee 1. ~© 7/3/000  1:52:33PM| 12496  11.386]  465.0 3155501 H52 | 2
700, S2d02PMl 12015, 11416 4029 >73.19%9 A8 L 2 ] 7/3/00] _ 1:55:57 PM 12.016 11.386 1812 3 2125997, H52 | 3
7/7/00 3:26:56 PM 12.956] . 11.416] 734.0| 367.1785 H48 3
S : T - s | SampleName | Field |  Well | Depth | Diameter |Length] Operator | f
Sample Name Field | Well Depth D'am‘fter Length Operator | [ " permeabiity | Escalante, UT|  #53 hole i 58" | 4 sionglu | ;
permeability Escalante, UT |H49 revisited| 4" | 58" | 4" robert brldges‘ . ] measurement | — e 2200 sus : -
‘measurement | | h —=C — e PR S B
- T inside Dam_ | Geom F cosi I Out ' Inside Diam. | Geom. Fact.| Ref. Temp. | V
~ Outside Diam. | Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity | IT L [ PUIsIe s'%i)D'amf 1 nSIdzn) lam. | Geom. Fact.| Re (C()%mp . ,,,'3(2‘:5”3')% - S I
- (in) . © ep). B I E— —r — e : - —
092 | 092 7211 | 265 | 001776 B 092 ,,‘.,,; 0.92 7.211 240  0.01765 -
- - | new — - B — , - .
~ Date ~ Time Flow Press | Atm. Press | Flow Rate Perm. |Sample|Reading - Date ‘ Time FIO(‘:)’S'? ;’;953 AtTl;ST&:()ess F(I::)c\:h/lr'r}::;e L?gl)P- __ FZ:;? Sample| Reading
(psia) (psna) (cc/min) | ~(md) | — _| — _ e .} | —"
: T 7/3/00 1:59:21 PM 12.501 11.381 212.8] 35.05 149.0155| H53 1
34 a 410.0661 1 I s . :
— Jo0  S4STEML l2M8 1Al B s n 7/3/00*,, 2:01:25PM|  13.331]  11.381  498.3 35.05 206.5450| H53 | 2
- 7on 1B — : o468 372 ' e 5| 7/3/00,  2:03:57 PM 15.261 11.381 695.6/ 35.08 153.9995| H53 | 3
717/00 3:19:33 PM 11.736‘ 11.416 246.8 567.7824| H49 | 3 »
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| Sample Name | Field | Well | Depth J Diameter |Length| Operator | ]
permeability | Escalante, UT| #54hole | 4" | 5/8" T ~ silong Iu RE "
| measurement : e -
“OQutside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity B e
) )| © | (P _ N ]
- 0.92 - 0.92 7.211 250 | 0.01769 | -
. ' new
Date ~ Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample|Reading|
- ] (psia) (psia) | (cc/min) | (C) (md) :
| 7/3/00|  2:06:03 PM 13.461 11.381 694.4| 35.08 261.0158| H54 1
~7/3/00 7 12.381 11.381 453.0/ 35.40 340.7596| H54 2
7/3/00  2:13:25 PM 11.921 11.381 173.8] 35.17, 238.1869| H54 3
SampleName |  Field |  Well Depth LDlameter [Length| Operator | [ 1
permeability Escalante, UT| #55 hole 4" 5/8" 4" silong lu
measurement - ] - ]
Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
- (i) (in) ©) (p) | I
0.92 092 7211 25.0 0.01769
) new
- Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample Reading
) (psia) (psia) (cc/min) | (C) (md) B
7/3/00,  2:14:00 PM 11.981 11.381 204| 353 253.1667| H55 1
7/3/00 « 12.411 11.381] 469 353 344.8706 H55 2
7/3/00]  2:27:00 PM 13.571 11.381 690, 354 249.5081 H55 3
Sample Name |  Field 71 Well | Depth | Diameter [Length| Operator | [ J‘
permeability | Escalante, UT h56 4" | 5/8" 4" |robert bridges -
measurement | . | | ‘
Outside Dlam Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity
o (im (in) ©) (cp) .
0.92 0.92 7.211 30.0 | 0.0179 ]
) new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm.. |Sample Reading|
“(psia) (psia) (cc/min) | (C) (md) | :
i 7/13/00] 11:04:50 AM 14.739 11.499 739.6 33.99 151.1661] H56 | 1
7/13/00| 11:06:18 AM| ' 12.919 11.499 466.0, 34.08 205.2248) H56 2
7/13/00] 11:08:03 AM 12.389 11.499 221.2| 34.18 152.8050| H56 3
Sample Name Field Well | Depth | Diameter [Length| Operator | F [
' permeability Escalante, UT| #57hole | 4" 58" | 4" silong lu N )
measurement N o o
~ Outside Diam. Inside Diam. | Geom. Fact.| Ref. Temp. | Viscosity - - I R
(in) oy ©  ep S R N
092 | 092 | 7211 25.0 0.01769 -
1 new
Date Time Flow Press | Atm. Press | Flow Rate| Temp. Perm. |Sample| Reading|
- (psia) (psia) (cc/miny | (C) ~(md) | -
~ 7/3/00]  2:27:48 PM 13541]  11.381]  718.4 35.45 2634915 H57 | 1
7/3/00 2:30:58 PM|  12.321 11.381 450.4) 3552 363.8936 H57 2 |
7/3/00]  2:34:00 PM 11.911 11.381 179.3| 35.57 2531044 H57 | 3
g
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